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QUESTION 1

Which three selections are available when filtering a TM1 cube view? (Choose three.) 

A. TopCount 

B. Max 

C. BottomPercent 

D. BottomSum 

E. GreaterThan 

Correct Answer: ACD 

 

QUESTION 2

How do you configure a TM1 Web application so that users are not prompted for the TM1 Admin Host every time they
login? 

A. Modify the capability assignments in TM1 Architect. 

B. Edit the pmpsvc_config.xml file. 

C. Edit the web.config file. 

D. Change security on the top-Level application folder from "private" to "public". 

Correct Answer: C 

 

QUESTION 3

You need to calculate a ratio on all levels in IBM Cognos Insight. Which action would you take? 

A. Create a calculation for C and N elements. 

B. Create a calculation and set the calculation order to Summarize First. 

C. Create a calculation for all elements. 

D. Create a calculation and set the calculation order to Calculate First. 

Correct Answer: B 

 

QUESTION 4

The human resources department requires a TM1 Web Labor Detail report which shows Total Salary, Benefits, and
Taxes for each employee within a selecteddepartment. The user should be able to select a department and have the



rows of the report display just the employees in that department with the costs across the columns. Employees should
be sorted in descending order based on Total Salary. UnfortunatelySalary, Benefits, and Taxes are all stored in different
cubes and the cubes only share the Employee and Department dimensions. 

How should you build the Labor Detail report? 

A. Use three slices, one for each of the source cubes and combine using Excel formulas. 

B. Use one slice with zero suppression for Salary and two snapshots for the other cubes. 

C. Use an Active Form. 

D. Use the In-Spreadsheet Browser. 

Correct Answer: C 

 

QUESTION 5

What is the differencebetween a TM1 Sandbox and a Personal Workspace? 

A. A Personal Workspace allows you to work in a private area where a Sandbox is shared. 

B. A Personal Workspace is a special default unnamed Sandbox where you begin your work. 

C. A Personal Workspace is shared. 

D. A Personal Workspace does not require you to commit your data as a Sandbox does. 

Correct Answer: B 

 

QUESTION 6

An international company has an existing TM1 server application they use for planning, forecasting, and reporting. The
corporate strategydepartment wants to share parts of this application with external consultants and partners. They
decide to create Cognos Insight workspaces which includes data from this server application combined with additional
analysis and content. They intend to distribute a single workspace ".cdd" file to the recipients. 

How should they integrate the TM1 server data with additional content resulting in distributable Cognos Insight
workspace files? 

A. Connect to the server using Distributed Mode, save the workspace and then modify as needed. 

B. Drag and drop TM1 cube views and subsets into the workspace, save the workspace and then modify as needed. 

C. Connect to the server using Connected Mode, save the workspace and then modify as needed. 

D. Import TM1 cube views and subsets, save the workspace and then modify as needed. 

Correct Answer: D 

 

QUESTION 7



You are asked to prepare next year\\'s budget for your organization. Because of budgetary pressures for the new year,
you are instructed to copy last year\\'s budget into the new year and reduce it by 5%. The TM1 cube you are using
contains last year\\'s budgetary data and the new year element has been added. 

Which two TM1 data spreading operations will allow you to do this? (Choose two.) 

A. Proportional Spread followed by Percent Change 

B. Relative Percent Adjustment 

C. Relative Proportional Spread followed byPercent Change 

D. Relative Proportional Spread followed by Relative Percent Adjustment 

Correct Answer: CD 

 

QUESTION 8

What data spreading options are available to users in the Perspectives or Architect Cube Viewer? (Choose two.) 

A. Repeat 

B. Straight Line 

C. Increase 

D. Decrease 

Correct Answer: AB 

 

QUESTION 9

In TM1 Cube Viewer, you are viewing an Income Statementcube containing dimensions for Department, Months,
Budget Version, and Account. Currently, the Account dimension is listed in the rows and the Months dimension is listed
in the columns. You want to see a comparison of each element in the Budget Version dimension next to each account. 

Which feature in TM1 Cube Viewer will accommodate this requirement? 

A. Personal Workspace 

B. Sandbox 

C. Stacking dimensions 

D. Layout Right to Left 

Correct Answer: C 

 

QUESTION 10

In which tier of the IBM Cognos TM1 client-server architecture does the TM1 Administration Server reside? 



A. Tier 2: Web Application Server 

B. Tier 1: Web Client 

C. Tier 4:Relational Store 

D. Tier 3: Data 

Correct Answer: D 

 

QUESTION 11

Which three selections would you find in the Properties window of the subset editor? (Choose three.) 

A. Alias 

B. Weight 

C. Type 

D. Parent Element 

E. Attribute 

Correct Answer: BCE 

 

QUESTION 12

What are three reasons why you would choosean Active Form over other report styles? (Choose three.) 

A. When the user needs to drill down and drill up on rows 

B. When the user needs to drill down and drill up on columns 

C. When the user needs to suppress zeros 

D. When there is a need to dynamicallyformat cells 

E. When the user needs to move dimensions around the report 

Correct Answer: ACD 
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